UNIT ¢ SECTION : TOWNSHIP :
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L: 3681 B: 3681 /i 1 G/MIX : 0.865 Bt2= ! W= |
$002 ;. 0.865 N2 . 70.08 02 : M O
d: 1.995 Fr :0.018231 Gi: 3184.1 RARGE : 0.0 E
0.0 E
VOL1: 41 PSIALl: 168.2 RESV.TEMP  110.8 Pc2-Pw2= 896.9 Pw2= 1
VOL 2 : PSIA 2 ; ERR
VOL 3 : PSIA 3 : SHUT-IK PR=  953.2 ERR
VOL 4 : PSIA 4 : ERR
PR : 607 n= L1000
iR kLY
Pc2/{Pc2-Pw2) = 1.013
LINE |RE ] QT 2 RATE 3 RATE 4 ERR
ERR
“18T 2D ‘18T D | OISt "D “157 M ERR
I ™ 0.041 | 0.041 | 0.000 | 0.000 | 0.000 | 0.000 | 0.000 0.000
. | 534 534 534 534 534 534 534 534 |{[Pc2/Pc2-P2]n = 1.013
1 B 570.8 | 570.8 | 570.9 570.8 | 570.8 | 570.8 | 510.8 510.8 ERR
§ 7 552.4 | 552.4 | 552.4| 552,41 5524 552.4 5524 552.4 ERR
PR {est) 0.18 0.00 0.00 0.00 ERR
5 3{est) 0.962 | 0.961 RR ERR ERR ERR ERR ERR
6 1™ 531.4 530.9 ERR ERR ERR ERR ERR ERR =0  0.042
T G/ 5.992 | 5.997 IRR ERR ERR ERR ERR ERR ERR
§ e 1.252 1.252 ERR ERR ERR ERR ERR ERR ERR
9 l-ef§ 0.201 | 0.201 ERR ERR ERR ERR ERR ERR ERR
10 Bt 108.2 108.2 0.0 0.0 0.0 0.0 0.0 0.0
11 pt2 /1000{ 1.7 11.7 0.0 0.0 0.0 0.0 0.0 0.0
12 pr [0.018231 {0.018231 {0.016231 |0.018231 |0.018231 [0.018231 [0.018231 }0.0182311
13 F=PrfZ | 9.688 ¢ 9.679 IRR ERR ERR ERR ERR ERR
14 Fem 0.40 0.40 IRR ERR ERR ERR ERR ERR
15 L/H(ch) 0.2 0.2 FRR ERR ERR ERR ERR ERR
16 0.031748 10.031719 ¥RR ERR ERR ERR ERR ERR
17 Pv2 11.1 11.7 IRR ERR ERR ERR ERR ERR
18 Ps2 14.1 14.7 ERR ERR ERR ERR ERR ERR
19 s 121,21 1212 ERR ERR ERR ERR ERR ERR
M P 114.7 114.7 ERR ERR ERR ERR ERR ERR
N I 0.19 0.1% FRR ERR ERR ERR ERR ERR
2 1.62 1.62 1.62 1.62 1.62 1.62 1.62 1.62
3 1 0.951 0.961 ERR ERR ERR ERR ERR ERR FORM C122-D
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